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Warm Up: Solve for x.
log,4 +log,8=1log, x
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Sometimes there is a benefit to using log properties to
expand or condense an expression.

\/
Product Property: log,(m-n)=1log, m+log, n
Log 4+ Qo% Zog 4-3 - ,%3 22
Quotient Property:  log, —logjm loga 1
chj Ll- /eoj_ﬁ /Q093<27) /@O(jgg

Power Property: 4 m" =nlog, m

Loglo = Koy, g - og
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(NC) Simplify using the log properties. Do not use a calculator.

) \’
a. logg2+logg3 b. log, S+log 20
0O
Xog b Log, |
(o
C. 10g5200-10g58 d. ]0g515—10g53
«QOj _ z S /@O S
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¥

(NC)_Use log, 3=1.585 and log, 7=2.807 to evaluate each expression.

2 logg49= b. logy27=~ . logy =

Zaﬁq_ 3 20517 —Eéc? 2.3

— ’3'20313 -
P ',Qogq"? 2-1.585=4.755
d. log 36 = e. log, 0.753 = f. log, % -

/onlq 1 Qog 1 9. % @51 5
%, 3- 7
¢ Qgﬁzq %517 Lf
%S - 2
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Expand the logarithmic expression.

a. log{%) b. logﬁ(xzy”’) . log (\G)’ ]
- Kog X 44 )
’2093 o x 9 TS Lo A2 g 2
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Solve each of the following. Do not use a calculator.

a. log 5+log2x%og2 35 \ b. log924—log9(x+2)=log93
5 3 5 Qog qz‘( —20343 :fagq(wz)
/&93 ><-)2

1

LDX :’Sb ?:)(1.2
X = ] 6=y
c. log(,(,\:2 -4)+log63=log6 36 d. log,(x)+log,(x-1)=log,12
203{06(}_0: QO?(P \z ZO;_I (X —X)ZQO% 17
R
T X=xz|
X -y =7 X
xz: l(o X‘X"lz :O
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Assignment:

pg. 488 #25, 26, 29, 30, 33, 34, 37, 46, 47, 49, 51, 57, 58




